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Table 10.1 Symbols of common component and equipments used in different circuits 
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2Ohm×meter
Unit of K= = Ohm×Meter

Meter

10.7

10.7.1
RA

K =
L

L = 1

Area of cross section
21 meter

Meter



10.7.2

10.8
V

R

V

I I

             Equivalent circuit of  fig 10.7 
  

  difference across the equivalent resistance is 
V = IR
 Putting this value in equation 10.4 we get
  IR = I (R + R + R ) 1 2 3

 or R = R + R + R1 2 3

 Thus we can say that total resistance of a  

series combination of a number of resistances is 
equal to the sum of resistatnces of that 
combination. 

Example 4 : Resistanaces of        &    are  

connected in series in a circuit in which a battery of 

6 V is also connected. Find the following : 
  (a) current in each resistance 
  (b) Potential difference across each of the 

3 , 4W W 5W
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21 2 3

3

11 1 1 1
= + +

2R R R R

31 1 1 1
= + +

R 1 2 3 ?
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R
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= Wì
ï = Wï
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= Wï
ï =î

1 11
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R 6

6
R

11
= W

1 , 2W W 3W

1 2

1 2

R R
R =

R + R

1 2

1 1 1
= +

R R R
1 2

1 2

R + R1
=

R R R

1 2 3

1 1 1V
V

R R R R

æ ö
= + +ç ÷

è ø

1 2 3
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1000000

746
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H IR It From Ohm's law

H I Rt V = I R
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ê ú= ë û

 

10.9

1 2 3R = R + R + R

2 2 2 6 2 10
R 2

3 3 3 3

+ +
= + + = = W

2H Ia

H Ra

H ta

Work done( W)

Total Time (t)

W VI t
P =

t t
=

2
 P = I R



Electrical Power P (Watt) time (hour)

1000

´

p (watt)×time(hour)

1000

( ) ( )100 2 30 8

1000

´ ´ ´
=

50W

10.10

(  ).
Rh

KB
+ –

P Q
N S

(  ).
Rh

KB
+ –

P Q

N

S

(  ).
Rh

KB
+–

P QN

S



10.11

10.12

10.11

10.12

10.13



10.13.1

10.14



1.

3.

4.

2.



10.

9.1.

8.

7.
12.

11.

6.

5.

10.

9.

8.

7.

(a)

3

2.5

210

6.

5. 3

4.

3.

2.

1 , 2W W



1 , 2W W
6

11[6 , ]W W
3W

[250 ]W

2W

2W

2W

2W

A

B

3W

3W

3W

3W

3W

3W

1WA B

2W
2W

2W
2W

A B

2W

2W

BA

2W

4
3

3

2

2

146


